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L. The line normal to the plane eurve 22 +siny = 7y at {2,0) i= .

2, If i) = 2! + ar® 4 br has a local minimum at » = 4 and & point of inflection at = =1

them a= /7 =and =19 .

3. Evaluate :
y=T.
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4, A spherical ballon is inflated with helium at the rate of 100 » {t*/mia. How fast is the
surface area chaneing st the instant the radius 15 307 BF .

. The velacity of a body moving alons a line from t=0to ¢ = 2 zec was

w[t) = Seosw L mfsec. Then the total distance traveied iz 3% .

L

B If vl+2r + 2 = aptao+ 4 axis 4 1)? las(z+ 1) +aa(z4+1)7 4 - - is the Taylor’s
cxpension, then oy = - .

7. T4 R be the semicirenlar region hanunded by the x-sxis and the semi-circle y = +/1 - 72,

Evaiuate ff e 1 iy =23
I
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1. At what rate is the distance between the tip of the
second hand and the 12 o'clock mark chanping when
the second points to 4 o'clock?




Iy & E X B & H £

ME

[ A

NrosgE A4HE 5 L pEtwmTs s

Pl
WA R 1001 s 2 HE 2 EW JRGEE (BR8] AR
Showe that 1 - —— 4 - Clrin” | - ig
- Show that 1 - -7 F-’:LT_-I_W | =+« 15 convergent and the sum is A
. Find the velume of the region commen to the interiors of the eyelinders 2 + ni=1

amet w4 4 =% =1,

Find the maximum value of Hfz,y, ) = 82 — 4pr — 162 + G006 ov the eilipsoid 42% +
i? 4 4z = 16, '
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